L N

g ®
ACTUATECH

===

GIUGIARD DESIGN

TR

Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

1/23


https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/rackon/
https://www.cn.actuatech.com/ImmaginiProdotti/CINEMATISMOPIGNONECREMAGLIERA.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/DOPPIAREGOLAZIONE.jpg

<L -
Q (%))
Wi @
TS ©
oK<
w o ©
<c S
225
= o =
[SIERIES
< c Z
5%

Hnd

FIE +390308908142 - £ H +390308908143

®

O
ACTUATECH

SREAH

2/23

Be environmentally friendly..please don't print this document unless you really need to.

L N


https://www.cn.actuatech.com/ImmaginiProdotti/sezionato-rackon-new.png
https://www.cn.actuatech.com/ImmaginiProdotti/RACKONSR.jpg

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1B HAEEREE)
TREERN SR ERNEIR
BRI RERS S ERNE.

PR S
AR AR R T 25 B K AN/ B TIF (% R £5°).
GREIGIEI DI E N

3B WA RN B SR R AT E .

TR EREMEASE (BRTERE)

BT W ERAGHRNMEN e RARIZEZ RS | SIESIAREE.
IR L.

4IRS,
BR T BRAMRMEMAEE (015 um Ra) , SR EIRER.

S5 aXHEIR AL
FRIEE SRS,
BIZMECE.

L AFTRAEENAMURBEREE O,
RKIOZERK240(CEZEE, - RKI00FIRK480E 5K,

NPTIRE S FLIRIR T SKifkd .
E: NS PRI EPVE- 9

HACTUATECHE B RN TE BSR4,
HEACTUATECHE BRI TR A B =IAE.

ATEX compliance.
B[ RETHIESEIER.

EASILIFRAIAE
B TRESR

\__ Be environmentally friendly..please don't print this document unless you really need to. 3/23



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH 1
S

TARERE

« 148 : ISNMZE347Nm,

SSEZHEOMRAE : EN ISO 5211: FO3 - FO4 - FOS - FO7 - F10 - F12,
- BFEEN 15714-3F5R A,

- AR (2014/34/UE) ATEXRHIR 54,

- TR 1 100° (-5, +95°),

- GANPRAIIF % (0°F190°) P T-5F0+5 XUk VA% .

%6 - BUR TN E AR RS (BRI .

BITEME

- FRAEBE : -20°C~+80°C,

HEIRARAR

- B8 : -20°C +150°C,

- {8 : -50°C~+60°C,

- BUEES : 6Bar (RS6OMRAERRA ; mEfElLES : misfElEH8bar,
- IR« SRV R R SR ; TR UNI EN 15714-3:200985 4,

- HEIRRE R SEEM RARRE BTSRRI

VERRRRRAS | JRADK BT

\L Be environmentally friendly..please don't print this document unless you really need to. 4/23



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

e
RFHAPITES RP
R~ 0010, 0020, 0040, 0060, 0080, 00120, 00160, 0240, 0300, 0480
Py VA ACTUATECH
A 90°
e [0 - =
c* 120°
D* 135°
I, R :5Ra S|
L R4
S g E
1E1T o BRI
D RYS
00 T
20 2,0 bar #%
25 2,5 bar 3%
30 3,0 bar 3%
S 35 3,5 bar 5%
40 4,0 bar 3%
45 4.5 bar 3%
50 5,0 bar #%
55 5,5 bar 3%
60 6,0 bar 3%
03 FO3
04 FO4
YR 05 Fos
MIEZ 5 07 FO7
10 F10
12 F12
THERE ° R
D* X
09 A9 mm
1 AN mm
AR = PR
17 A7 mm
22 A 22 mm
27 A 27 mm
G NamurZtfE , GAST 4L
NamurEsfE , NPTZ 4L
REEE o GASZEL , RfALTEE
(FtNamurfH)
Namuri[ , £RNCAST 4L
ARrE
kRA 6 R
4 =)
* B,

#IE B RETARAEIREACTUATECH,

RPZRELE51

YR XA RPO04OVAARDOOO5QTIG
TR RP 40 33K 1SO FOS5 07 {TEMTmmELSANAMURE JE,

\L Be environmentally friendly..please don't print this document unless you really need to. 5/23



n ACTUATECH S.p.A.
‘.’ San Lorenzo X 705
® EHF Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143
ACTUATECH

YRS 5T RPO300VAARDO007Q22|
FEERAEA: RP 300 M3 1ISO FO7 10 1T2%#h22mm , KERNEBRSIANAMUREL.

YRAL %4 RPOO4OVAARS6005Q11G
FEERAER: RP 40 B3 6BAR 1SO FO5 07 TEMNMMEISANAMUREEE,

b F: RPO300VAARS6007Q22|
FEERS T4 RP 300 83K 6BAR ISO FO7 10 TE4#122mm , SENERSENAMUREEL.

\_ Be environmentally friendly..please don't print this document unless you really need to. 6/23



L N

O

\ g

®
ACTUATECH

it

Be environmentally friendly..please don't print this document unless you really need to.

Basetta Namur interfaccia secondo EN15714-3
Namur plala interface EN15714-3

RP20 + RP240

ACTUATECH S.p.A.

San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

RP20 - 240 senza basetta Namur

RP20 - 240 without Namur plate
m <

M

Interfaccia per accessor secondo EN 15714»3 NDINDE 3845)

Dispositivo di limitazione della corsa
w Stroke limiter device
(max. -5%+5°,-85°+895°)

T

O

O,

Anallo di centraggio a richiesta
Cantaring ring on requast

mrgdam EN 15714-3

EN IS0 5211

7/23


https://www.cn.actuatech.com/ImmaginiProdotti/RP20-240-SR-DIMENSIONI.png

> )

&

®

ACTUATECH

R
ISO
A
B
C x depth
D x depth
E

I o m

< € 4w /O v 0 Z2 X r

WirHE(GAS)
Wi (NPT)
Cha
Ch.2
EE (kg)
#<E (dm3/cycle)
4
w

H = EERF
*IRIBABRAET.

RP20 RP20
FO3/FO5  FO3/FO5
153,7 153,7
9 n
M5x8 M5x8
M6x9 M6x9

36 36
50 50
10 10
50,9 50,9
© 9
100 100
30 30

82,5* 82,5*
13,2 13,2

38,5* 38,5*

44 44
127 127
20 20
80 80

5975 || 5975
19 19
1/8" /8"

1/8"-27 || 1/8"-27

10 10
3 3
1,5% 1,54
on on
5 5916)
/8" /8"

*RBEERRARRE R ER L.

RP20
FO4
153,7

M5x8

42

50,9

100
30
82,5
132
38,5¢
44
127
20
80
59,75
19
/8"
1/8"-27
10
3
1,54
o
59,9
/8"

RP20
FO4
153,7

M5x8

42

10
50,9

100
30
82,5
132
38,5¢
44
127
20
80
59,75
19
/8"
1/8"-27
10
3
1,54
o
59,9
/8"

RP40

RP60

RP80

RP120

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

RP160 | RP240

FO5/FO7| FO5/FO7 | FO5/FO7 | FO5/FO7 | FO5/FO7 | FO7/F10 | FO7/F10

Rt [mm]
RP40  RP40 RP40
FO4 | FO4
180,4 | 180,4 180,4
n 14 n
M5x8 || M5x8 | M6x9
- - M8x12
42 42 50
- - 70
13 13 13
60,8 60,8 60,8
12 12 12
2 n2 12
36,5 36,5 36,5
95,5% || 955* 95,5%
16,5 16,5 16,5
45* 45* 45*
50,5 50,5 50,5
16,2 16,2 16,2
20 20 20
92 92 92
70,5 70,5 70,5
21 21 21
/8" /8" /8"
1/8"-271/8"-27 | 1/8"-27
10 10 10
3 3 3
23 || 23 23%
0,2 0,2 0,2
69,8 69,8 69,8
/8" /8" /8"

180,4
14
M6x9
M8x12
50
70

2
365
95,5
16,5
45
50,5
16,2
20
2
70,5
21
/8"
1/8"-27
10
3
23%
02
69,8
/8"

\L Be environmentally friendly..please don't print this document unless you really need to.

2154
14
M6x9
M8x12
50
70

102
79
24

1/8"

1/8"-27

13
4
320
031
777
1/8"

2355
17
M6x9
M8x12
50
70
13
75,6
5
130
46
T6,5*
19,3
56,5%
60
20,2
20
1o
86
26
/8"
1/8"-27
13
4
4,14
0,44
84,6
/8"

2659
17
M6x9
M8x12
50
70
13
87,6
15
143
51
127*
19,3
62*
65
225
20
123
97,75
32
1/4"
1/4"18
13
4
5,7
0,61
96,6
/4"

2859
22

M8x12

M10x15

36
1/4"
1/4"18
16
5
7,3
0,83
106,6
/4"

3184
22
M8x12
M10x15
70
102
19,5
2
22
180
64
159*
243
81*
78
318
30
150
120,5
41
1/4"
1/4"18
18
6
10,2%
121
121
14"

8/23



A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

HIE +390308908142 - {£H +390308908143
ACTUATECH

RP300 + RP480

OB HII RP300-480 con basetta interfaccia Namur EN15714-3
RP300-480 with Namur plate interface EN15714-3
T S R

{g W PR

\ [N ]
. = = ¥ = - 5 &9 [ 1
o™
# o Legd+
S =
| - — 24
= - — .
D e P Q
= M M
470 - @R Dispositivo di limitazione della corsa
4-H-7 Stroke limiter device
o = Interfaccia Namur EN15714-3 (max: -5%/+5",-85°/+95°)
Q& Namur interface EN15714-3 )
| N @) | -
b Opzionale
n
J P& T

O 04

Anello di centraggio a richiesta ENISO 5211

Centering ring on request

& | Optional
%
24 - E 14
BN
O, &)

Interfaccia per accessori secondo EN 15714-3 (VDI/'VDE 3845)
Accessories interface EN 157 14-3 (VDIVDE 3845)

%3

\_ Be environmentally friendly..please don't print this document unless you really need to. 9/23


https://www.cn.actuatech.com/ImmaginiProdotti/RP300-480-SR-DIMENSIONI.png

L N

2
& .
ACTUATECH

R
ISO
A
B
C x depth
D x depth
E

I o m

< € 4w O v 0 zZ2 X r

WiRHE(GAS)
WiSF (NPT)
Cha
Ch.2
EE (kg)
#t<E (dm3/cycle)
z
w

H = EERF
*IRIBABRAETL.
*RESRRARRE R ER L.

R~F [mm]
RP300
FO7/F10
3524
22
M8x12
M10x15
70
102
19,5
1256
22
192
69.5
156,5*
243
87*
83,5
318
30
162
131
46
/4"
1/4"18
18
6
13+
156
124,5
14"

Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

RP480
F10/F12
3934
27
M10x15
M12x18
102
125
19,5
145,6
27
214
80
180*
295
100*
9%
38
30
184
149,5
52
1/4"
1/4"18
21

18,8**
2,46

144,5
/4"

FaIE +390308908142 - {£H +390308908143

10/23



n ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

HIE +390308908142 - {£H +390308908143
ACTUATECH

RP20 + RP480

‘_ Be environmentally friendly..please don't print this document unless you really need to. n/23


https://www.cn.actuatech.com/ImmaginiProdotti/MATERIALI-RP-SR.png

e .

ACTUATECH

A= b1
1 fane)
2 L
3 iR (AR )
4 R (TSR
5* OEfE (TiiEEIE)
6 it
7 AR
8 HMNERLEHERhA
9 i3y
10* Seegers# g
m* O™
12* i omE
13 Namur
14 Z R
15* OF
16* B ((TIRAE)
17* WER(ITRRIRE)
18* VARZAE
19 TEE
20* EESELES
21 RSB
20* OFE R
23* HEOME
24 Hi
25 o3
26 B
27 KIFER
28 ST RAR
29 BIETUAGHET
* BHERNEAMS,
HAFBSKRE , BAS R,
BEBEBETISMA,

KESEEMN , TTRWREEFE.

\L Be environmentally friendly..please don't print this document unless you really need to.

ME

O NINININIDNINININININN

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

)53
e
Erat]

ZERER IR
Z YRR R AR

NBR

S
ZERERRE
Z YRR R

4R

TR

NBR

NBR
mEE
4R

NBR
4R
4R
B

AE

ZYURRER AR

REMs

NBR

NBR
EEE
4R
SEH

Z YRR
ZERER R
X

12/23



125%

100%

75%

50%

25%

0%

BIRMNAFIREN : THABEEER T XFHRE.

[
RTl'g
20
25
30
35
RP20 | 40

45
50
55
60
20
25
30
35
RP40 | 40
45
50
55
60
20
25
30
35
RP60
45
50

O

\ o
ACTUATECH

BN

2 bar
0° | 90°
49125

43 14

93 |48
82 26

142 74

125 4,0

2,5 bar
0° || 90°
6,7 | 44
61 3,2
55 120
128 | 83
m7 | 6,1
105 || 38
19,5 || 12,7
17,8 | 9,3
16,0 | 58

®

«SR»EHNEEZFR(NmM)
Aria Air Molla Spring
45° 60° 757 90° 75" e0° 45° 30°
«SR»EFNERIE(Nm)
SHREN

3 bar 3,5 bar 4 bar 4.5 bar 5 bar 5,5 bar 6 bar
0° || 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90°
86 62 104 80 | 122 99 140 17 | 159 135 17,7 153 | 195 | 172
80 | 50 9,8 6,8 6 87 1134 105 | 153 || 123 171 || 142 | 189 || 16,0
74 | 3,8 92 57 | M0 75 1128 1 93 147 | M1 165 130 183 | 14,8
68 |26 | 86 45 104 63 12,2 8,1 14,1 99 159 | 1,8 || 17,7 | 13,6
8,0 33 98 51 ne | 69 135 88 153 | 106 | 171 124
9,2 39 m0 57 129 76 1147 || 94 | 165 | N2
104 45 12,3 | 6,4 | 14 82 | 159 10,0
n7 52 135 7,0 | 153 8,8
129 58 147 7.6
163 | 1,81/ 198 | 153 || 233 || 188 || 26,7 | 223 || 30,2 | 25,7 || 33,7 | 29,2 || 37,2 || 32,7
1511195 186 130 | 221 | 165 256 200|291 235 326 270 360 | 304
14,0 7,3 175 108 | 210 | 142 | 244 | 17,7 || 279 | 212 || 31,4 || 24,7 || 349 | 282
128 50 /163 | 85 | 198 120 | 233 154 268 189 303 224 | 337 | 259
15,2 62 | 18,7 || 9,7 | 220 | 132 || 256 || 16,7 || 29,1 | 20,1 | 32,6 | 23,6
17,5 74 | 21,0 | 10,9 | 245 | 14,4 | 280 179 314 | 214
198 | 86 | 23,3 121 268 156 | 30,3 19,1
222 98 [|257 | 13,3 | 291 168
245 11 28,0 | 14,5
249181 | 30,2 | 234 | 355 | 28,77 40,8 34,0 46,1 | 393 | 514 446 56,7 || 499
231|146 284 | 199 || 337 | 252 39,0 305 443 358 | 49,7 412 550 | 465
2,4 | M2 | 26,7 | 1655 320 21,8 | 373 | 271 | 426 324 | 479 | 37,7 | 532 | 43,0
196 | 7,7 | 24,9 | 13,0 | 30,2 183 || 355 | 236 | 40,8 289 462 343 | 515 | 396
232 1 96 1285 14,9 338 202 391 | 255 | 444 308 497 | 36,1
26,7 | N4 32,0 16,7 373 | 220 | 427 274 480 | 327
303 133 356 18,6 409 | 239 462 292

\__ Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

7 bar

o°
232
226
220
214
20,8
20,2
19,6

19,0
18,4
441

430
418
407
395
384
372
361

34,9
673
656
63,8
62,1

60,3
58,6

56,8

90°
20,8
19,6
18,4
17,3
16,1
149
13,7
12,5
n3
BV
37,4
35]1
329
30,6
283
26,0
238
21,5
60,5
57,
53,6
50,2
46,7
433

39,8

8
0°
268
262
256
25,0
244
238
232
22,6
220
511
50,0
488
4777
46,5
454
442
431
419
779
762
Vb4
72,7
70,9
69,2

67,4

bar

90°
24.F
232
22]
20,C
19,7
18,5
17,3
16,1
15,C
46,€
44t
42,1
39,6
37t
352
S5
30,7
28t
71,1
67,7
64,2
60,¢
572
53¢

50,4

13/23


https://www.cn.actuatech.com/ImmaginiProdotti/DIAGRAMMA-RP-SR-NC.png

Ca

®

ACTUATECH

55
60
20
25
30
35
RP80 | 40
45
50
55
60
20
25
30
35
RP120 40
45
50
55
60
20
25
30
35
RP160 40
45
50
55
60

25
30
35
RP240 40
45
50
55
60
20
25
30
35
RP300 40
45
50
55
60
20
25
30
35

40
RP480

20,1//10,5/| 27,6 || 18,0
176 56 | 251 | 13,1
226 | 82

287 14,9/ 393 | 256
25180 358 18,7
323 17

39,3|[20,5|| 539 || 35,1
34,5376 49,1 25,6

44,3 16,1

5721129,8 785 | 511
502/ 160 71,5 37,3
64,5 235

73,7/|38,4|| 1011 || 65,9
64,6/20,6/ 92,1 48,0
83,0 30,2

115,7/60,3/ 158,8 103,41
1015 32,3 144,6 75,4

130,4 | 474

351|255
32,6 20,6
30,1 15,7
27,7 /10,9

50,01/36,3
46,5/ 293
43,0 22,4

BYISH [AIS'S

68,6 | 49,7
63,8 40,2
59,0 30,7
5411 21,2

99,8 | 72,4
92,8 58,6
85,8 44,8

78,8 30,9

128,6 93,3
19,5755
10,5 57,6
1015/ 39,8

201,9/146,5
187,7 18,5
173,5/ 90,5
159,4| 62,5

42,6
40,1
37,6
35,1
32,7

60,7
572
536
50,1
46,6

83,2
78,4
73,6
68,8

64,0

1211

N4

1071
100,1
93,1

156,0
147,0
79
128,9
mee

245,0
230,8

216,6

202,4 105,6

1883

33,0
28,1
232
18,3

13,5

46,9
40,0
33,1

26,1
19,2

644
54,9
453
35,8

26,3

93,7
799
66,1
52,2
384

120,8
102,9
851
67,2
49,4

189,6
161,6

133,6

77,6

50,0
47,6
451

42,6
40,2
37,7

73
67,8
64,3
60,8
57,3

53,8

979
93,0
88,2
83,4
78,6
73,8

1424
1354
1284
1214
4,4
107,4

1834
174 4
1654
156,4
147,3
1383

288,0
2739
259,7
2455
23,4

404
356
30,7
25,8
21,0
16,1

57,6
50,7
437
36,8
29,9

22,9

79,0
69,5
60,0
50,5
40,9
34

15,0
1012
87,4
73,5
59,7
45,8

1482
130,4
12,5
94,7
76,8
59,0

2327
204,7
176,7
148,7
120,6

57,5
551

526
50,1

47,7
45,2
4277

82,0
78,5
75,0
71,5
68,0
64,5
61,0

12,5
107,7
102,9
98,1
932
88,4

83,6

163,7
156,7
1497
1427
135,7
128,7
1217

210,9
2019
192,8
183,8
174,8
165,7
156,7

3311
317,0
3028
288,6

2745

47,9
43,1
382
333
285
23,6
18,7

68,3
61,4
54,4
47,5
40,5
33,6
26,7

93,6
84,1
74,6
65,1
55,6
46,0

36,5

136,3
122,5
108,7
94,8
81,0
67,1
533

175,6
157,8
140,0
1221

104,3
86,4
68,6

2758
2478
219,8
191,7

163,7

33,8

65,0
62,6
60,1

57,6
551

52,7
50,2

47,7

927
89,2
85,7
822
786
751
71,6

68,1

127,
1223
17,5
12,7
1079
1031
98,3
935

185,0
178,0
171,0
164,0
157,0
150,0
143,0
136,0

2383
2293
2203
2112

202,2
1932
184,2

1751

3742
360,1
3459
3317

317,5

\L Be environmentally friendly..please don't print this document unless you really need to.

151

554
50,6
45,7
40,8
B519
311
26,2
213

79,0
72,0
651
58,1
512
443
37,3

30,4

108,3
98,8
89,2
79,7
70,2
60,7
51,2
41,6

157,6
143,8
130,0
16,1
102,3
88,4
74,6
60,8

2031
1853
1674
149,6
1317
139
96,1

78,2

318,9
2909
2628
234,8

206,8

39,2
37,4
72,5
70,
67,6
65,1
62,6
60,2
57,7
55,2
52,8
103,4
G915
96,3
92,8
89,3
858
823
78,8
753
141,8
137,0
1321
1273
122,5
n7z7
129
108,1
103,3
2063
1993
192,3
1853
1783
1713
164,3
157,3
150,3
2658
256,8
2477
238,7
2297
220,6
21,6
202,6
1935
4173
4032
389,0
374,8

360,6

20,5
17,0
629
581
532
483
434
386
337
28,8
24,0
896
82,7
758
68,8
619
549
48,0
411
341
122,9
N34
1039
94,4
84,8
753
6538
56,3
46,8
1789
165,1
1513
1374
123,6
109,7
959
82,1
682
230,5
2127
1949
177,0
159,2
1413
1235
105,7
87,8
362,0
334,0
3059
2779

2499

445
42,7
80,0
775
75,1
72,6
70,1
67,7
65,2
627
60,3
114,0
10,5
107,0
1035
100,0
96,5
93,0
89,5
86,0
156,4
1516
146,8
142,0
137,2
132,3
127,5
122,7
17,9
2276
2206
2136
206,6
199,6
192,6
185,6
178,6
171,6
2932
2842
275,22
266,1
257,1
2481
239,0
230,0
221,0
460,4
4462
4321
4179

403,7

258
22,3
70,4
655
60,7
558
50,9
46,1
42
363
31,5
1003
934
86,4
795
72,6
65,6
587
517
44,8
137,6
128,0
18,5
109,0
99,5
90,0
80,4
70,9
61,4
2002
186,4
172,6
158,7
1449
131,0
172
103,4
89,5
258,0
2401
2223
2045
186,6
168,8
150,9
1331
15,3
4051
377,0
3490
3210

293,0

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

551
533
95,0
92,5
90,1
87,6
85,1
82,6
80,2
77,7
75,2
135,4
1319
128,4
124.,8
1213
17,8
14,3
10,8
107,3
185,7
180,9
176,0
1712
166,4
161,6
156,8
152,0
147,22
270,2
263,22
256,2
2492
2422
2352
2282
2212
2142
3481
3391
330,1
3210
312,0
303,0
R2OBIS)
2849
2759
546,6
5324
518,3
504,
489,9

364
329
854
805
75,7
70,8
659
61,0
56,2
513
46,4
1217
14,7
107,8
100,8
939
87,0
80,0
731
66,1
166,8
157,3
147,8
1383
1287
192
109,7
1002
90,7
2428
229,0
2152
2013
1875
173,6
159,8
146,0
132,1
3129
2950
2772
2594
2415
2237
2058
188,0
170,2
4912
4632
4352
4072

379,2

65,7 || 47
639 || 43°F
110,0 | 100,
1075 95%
105,0 | 90,
1026 | 85¢&
100,1 | 80,¢
976 || 76,C
952 | 72
92,7 || 66,2
90,2 | 614
156,7 | 143
153,2 | 136,
149,7 | 129,
146,21 122,
142,77 15,2
139,2 | 108,
135,7 | 1014
1322 | 944
1286 87%
2149 196,
210,1 |/186
2053 177,
200,5/ 167,
195,7 /158,
1909 148,
186,1 || 139,
181,3 | 129!
176,5 | 119,¢
312,8 | 285,
305,8/ 271
298,8 257,
2918 | 243,
284,8| 230,
2778 | 216,
270,8 202,
263,8 188,
2568 174,
403,0/ 367,
394,01 349,
384,9| 332,
3759 314,
366,9 296,
3579278,
348,8| 260,
339,8| 242,
330,8/ 225,
6328|577,
618,6 ||549,
604,4 | 521,
590,3||493,

576,1 | 465,

14 /23



45
50
55
60

125%

100%

75%

50%

25%

0%

O

\ o
ACTUATECH

Oa

157

®

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

2172 92,6 | 260,3| 135,7| 303,4 178,8  346,5 2219 389,6 |2650| 4757| 3512 5619 |437,
246,1/107,7|289,2 150,8 3323 1939 3754 |237,0 4616|3232 5478 409,
275,0122,8 | 318,1 165,9| 3612 209,0 |447,4 2952 5336 381,

304,0 1379 347,1 181,0 4332|2672 5194 | 353,

«SRyEFF N (Nm)
Molla Spring Aria Air
30° 45° 60° 5" 90° 7h= 60° 45° 30° 15° 0°

BRNAFIEREXN « TRAEEER TP MRS,

[
Rng
20
25
30
35
RP20 | 40

45
50
55
60
20
25
30
35
RP40 | 40
45
50
55
60
20
25
30

2 bar
90° || 0°
49 25

43 14

93 48
82 26

14,2 7,4

12,51 4,0

2,5 bar 3 bar

90° | 0° | 90°  ©°
67 | 44 | 86| 62
61 32 80 50
55 20| 74 38
68 | 26

128 |83 163 | 11,8
m,7 | 61 151 | 95
10538 14,0 7,3
128 50

195 | 12,7 |124,9| 18]

17,8 9,3 | 23]

16,0

14,6

58 2,4 1,2

35 bar
90° || ©O°
10,4 || 8,0
98 | 68
92 || 57
8,6 | 4,5
80 || 33
198 153
186 | 13,0
17,5 1108
16,3 | 8,5
152 | 62
302 | 234
28,4 19,9
26,7 | 16,5

«SR»EFFII4EFRIE (Nm)
SEEN
4 bar 4.5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar

90° 0° 90° 0° || 90° 0° 90° 0° 90° 0° 90° 0° 90° 0°
122 1199 140 | M7 | 159 | 135 17,7 | 153 | 195 || 172 | 232 | 208 | 268 || 24t
N6 || 87 | 134 | 105 | 153 | 123 | 171 | 142 | 189 || 160 | 226 | 196 | 262 || 232
no | 75128 93 147 | N1 165 | 130 | 183 148 | 220 | 184 256 | 22]
104 63 122 81 | 141 | 99 || 159 | N8 | 17,7 | 136 | 214 173 | 250 | 20°<
9,8 | 51 n6 | 69 135 88 | 153 106 171 124 | 20,8 | 161 | 24,4 | 19,7
9,2 39 MO0 | 57| 129 | 76 147 94 165 | 112 | 202 | 149 | 238 || 185

104 | 45 123 64 141 82 159 100 196 | 137 232 | 173

n7 | 52 | 135 70 | 153 | 88 || 190 | 125 | 226 | 161

29 58 147 76 184 | N3 | 220 15C

23311188 1|267 || 223 || 30,2 || 257 | 33,7 | 292 | 372 || 327 || 441 || 39,7 | 511 | 46,
221 | 165 | 256 20,0 291 | 235|326 270 360 | 304 | 430 | 374 | 50,0 | 44,
210 || 142 | 244 | 17,7 || 279 | 212 | 314 | 247 | 349 || 282 | 418 | 351 | 488 | 42]
198 120 | 233 154 || 268 189 | 30,3 | 22,4 | 337 | 259 | 40,7 | 329 | 47,7 | 39,
18,7 | 9,7 | 221 132 | 256 16,7 || 291 || 20,1 || 326 | 23,6 | 395 306 || 465 | 37t
175 74 | 21,0 | 10,9 | 245 | 144 280 179 | 314 || 214 | 384 | 283 | 454 || 352
98 86 233 121 |268 156 303 | 191 | 372 | 260 | 442 33(

222 98 257 133 291 168 | 36,1 | 238 431 |30)

245 N1 28,0 14,5 349 | 215 | 419 | 28f%

355|287 408 34,0 | 461 | 393 || 514 446 567 | 499 | 673 605|779 | 7]
337|252 390 305 443 358|497 412 | 550 | 465 | 656 571 762 67,

320 21,8 | 373 | 271 | 426 | 324 | 479 377 532 | 430 638 | 536 744 | 64z

\__ Be environmentally friendly..please don't print this document unless you really need to. 15/23


https://www.cn.actuatech.com/ImmaginiProdotti/DIAGRAMMA-RP-SR-NO.png

35
RP60
40
45
50
55
60
20
25
30
35
RP80 | 40
45
50
55
60
20
25
30
35
RP120 | 40
45
50
55
60

25
30
35
RP160 40
45
50
55
60
20
25
30
55)
RP240 40
45
50
55
60
20
25
30
35
RP300 i
45
50
55
60

Ca

20,1/10,5/| 27,6 || 18,0
176 56 | 251 | 13,1
226 | 82

28,7149 393 256
25180 | 35,8 18,7

323 | 1,7

39,3|(20,5|| 53,9 || 35,1
345|376 49,1 25,6
44,3 16,1

57,2298/ 785 | 511
50,2160 7,5 37,3
64,5 | 235

73,7 38,4 1011 | 65,9
64,6/20,6| 92,1 | 48,0

83,0 | 30,2

®

ACTUATECH

19,6

B5Y
32,6
30,1
27,7

50,0
46,5
43,0
BOIS!

68,6
63,8
59,0

54,1

99,8
92,8
85,8
78,8

128,6
19,5
10,5
1015

7,7

255
20,6
15,7
109

36,3
ROK
22,4
15,5

49,7
40,2
30,7

212

72,4
586
44,8
309

S
75,5
57,6
39,8

24,9
232

42,6
40,1
37,6
35,1

27

60,7
572
53,6
50,1

46,6

832
78,4
73,6
68,8
64,0

1211

N4

107,
100,1

931

156,0
147,0
137,9
128,9

19,9

13,0
9,6

33,0
28,1
257
18,3
85

46,9
40,0
331

26,1

19,2

64,4
549
453
358
263

93,7
799
66,1
52,2
38,4

120,8
1029
85,1
67,2

49,4

30,2
28,5
26,7

50,0
47,6
45,1

42,6
40,2

37,7

71,3
67,8
64,3
60,8
57,3

538

979
93,0
88,2
83,4
78,6

73,8

142,4
1354
1284
1214
4,4

107,4

1834
1744
165,4
156,4
147,3

138,3

18,3
14,9

4

40,4
356
30,7
258
21,0

16,1

57,6
50,7
43,7
36,8
29,9
229

79,0
69,5
60,0
50,5
40,9

31,4

15,0
101,2
874
735
59,7
45,8

148,2
130,4
12,5
94,7
76,8
59,0

355
338
32,0
30,3

575
551

52,6
50,1

47,7
45,2
42,7

82,0
78,5
75,0
71,5
68,0
64,5

61,0

125
107,7
102,9
98,1
93,2
88,4
83,6

163,7
156,7
149,7
142,7
1357
128,7

1217

210,9
2019
192,8
183,8
174,8
165,7

156,7

236
20,2
16,7

13,3

479
43,1
38,2
333
28,5
23,6
18,7

683
61,4
54,4
475
405
33,6

26,7

93,6
84,1
74,6
65,1
55,6
46,0
36,5

136,3
122,5
108,7
94,8
81,0
67,1
533

175,6
157,8
140,0
1221

104,3
86,4

68,6

40,8
39,1
By
35,6
33,8

65,0
62,6
60,1

57,6
551

52,7
50,2

47,7

92,7
89,2
857
822
78,6
75,1
7,6
68,1

127,
1223
n7,5
12,7
1079
1031
98,3

935

185,0
178,0
171,0
164,0
157,0
150,0
143,0
136,0

238,3
2293
220,3
21,2

2022
1932
184,2
175

\L Be environmentally friendly..please don't print this document unless you really need to.

28,9
255
22,0
18,6
15,1

554
50,6
45,7
40,8
B519
311
26,2

21,3

79,0
72,0
65,1
58]
512
443
37,3

30,4

108,3
98,8
89,2
79,7
70,2
60,7
51,2

46

157,6
1438
130,0
16,1
102,3
88,4
74,6
60,8

2031
1853
167,4
149,6
131,7
139
96,1
78,2

46,2
444
427
409
39,2
374
72,5
70,1
67,6
65,1
62,6
60,2
57,7
55,2
52,8
1034
999
963
9238
893
858
82,3
78,8
753
1418
137,0
1321
1273
1225
7,7
129
108,1
1033
2063
1993
1923
1853
178,3
1713
164,3
157,3
1503
2658
256,8
24717
2387
2297
220,6
N6
202,6

EES

343
308
27,4
239
20,5
17,0
629
58]
532
483
434
386
337
28,8
24,0
896
827
758
688
619
549
48,0
411
34
122,9
N34
1039
94,4
84,8
753
6538
56,3
46,8
1789
165,1
151,3
1374
123,6
1097
959
82,1
6872
230,5
2127
1949
177,0
159,2
1413
1235
105,7

87,8

515
49,7
480
462
44,5
42,7
80,0
775
751
72,6
70,1
677
65,2
62,7
60,3
114,0
10,5
107,0
1035
100,0
96,5
93,0
89,5
86,0
156,4
1516
146,8
142,0
137,2
132,3
127,5
122,7
17,9
2276
2206
2136
206,6
199,6
192,6
185,6
178,6
17,6
2932
2842
2752
266,1
2571
2481
239,0
230,0
221,0

396
361
327
292
258
223
70,4
65,5
60,7
55,8
50,9
46)]
412
363
31,5
1003
934
86,4
795
72,6
65,6
587
517
44,8
137,6
128,0
18,5
109,0
99,5
90,0
80,4
70,9
61,4
2002
186,4
172,6
158,7
144,9
131,0
172
1034
89,5
258,0
240,1
2223
204,5
186,6
168,8
150,9
1331

15,3

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

62,1
60,3
58,6
56,8
55,1
533
95,0
92,5
90,1
87,6
851
826
80,2
777
752
1354
1319
1284
124,8
1213
17,8
14,3
10,8
1073
1857
1809
176,0
1712
166,4
161,6
156,8
152,0
1472
2702
2632
256,2
2492
2422
2352
2282
2212
2142
3481
3391
330,
3210
312,0
303,0
2939
2849

2759

502
46,7
433
3938
36,4
329
854
80,5
757
70,8
659
610
56,2
513
46,4
217
14,7
107,8
100,8
939
87,0
80,0
731
66,1
166,8
157,3
147,8
1383
1287
192
1097
100,2
90,7
2428
2290
2152
2013
187,5
1736
159,8
146,0
1321
3129
2950
2772
2594
2415
2237
2058
188,0

170,2

72,7 || 60,¢
709 | 5732
69,2 || 53¢
67,4 | 50,4
65,7 || 47
639 || 43t
110,0 | 100,
1075/ 95%
105,0 | 90,¢
1026 | 85¢
100,1 | 80,¢
97,6 || 76,C
952 || 71,2
92,7 || 66,2
90,2 | 614
156,7 || 143,
153,2 | 136,
149,7 | 129,
146,21 122,
142,77 | 15,2
139,2 108,
135,7 | 101«
1322 | 94,4
1286 87k
214,9 | 196,
210,1 /186,
2053|177,
200,5/ 167,
195,7 /158,
1909|148,
186,1 || 139,(
181,3 | 129!
176,5 || 119,¢
312,8 | 285,
305,8| 271
298,8 257,
2918 | 243,
284,8| 230,
2778 216,
270,8 202,
2638 188,
2568 174,
403,0| 367,
394,0| 349,
384,9 | 332,
3759 314,
366,9 296,
3579278,
348,8 260,
339,8| 242,

330,81|225,

16/23



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

20/ 15,7 60,3 158,8 103,4| 2019 [146,5 245,0 |189,6288,0 |232,7 | 331,1 | 275,8|374,2| 318,9 | 417,3|362,0| 460,4 405,1 |546,6 4912 6328 577,
25101,532,3|144,6 75,4|187,7| 118,5 |230,8| 161,6 | 273,9 204,7 | 317,0 | 247,8/ 360,1 290,9 403,2/|334,0 | 446,2| 377,0 5324 4632 618,6 549,

30 130,4| 47,4 173,5 90,5 2166 | 133,6| 259,7| 176,7 1302,8/ 219,8 3459 262,8 |389,0 3059 | 432,1|349,0| 5183 4352 |604,4 521
55 159,4| 62,5|202,4|105,6| 245,5| 148,7288,6 | 191,7 | 3317 |1234,8/|374,8/|277,9| 417,9 | 321,0 | 504,1 |407,2/|590,3 | 493,
RP480 40 188,3| 77,6  231,4| 120,6| 274,5 163,7 3175 206,8/|360,6 249,9 |403,7 293,0| 489,9 3792 | 576,1 | 465,
45 2172 92,6 |260,3 |135,7 |303,4|178,8 | 346,5| 221,9| 389,6 265,0|475,7 | 351,2 | 561,9 | 437,
50 246,1/107,7| 289,2 150,8 3323 1939 3754 |237,0 4616|3232 5478 409,
SS 275011228 | 318,1165,9| 3612 209,0 |447,4 2952 533,6 381,
60 304,0 1379 347,1 181,0 4332|2672 5194 | 353,

\L Be environmentally friendly..please don't print this document unless you really need to. 17/23



A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

A%

B EPITARETE

>
I I /
| ‘v

101 A

1E1TE

BYRAF | TRV ENMNIRN e |, JITRENREEFHAE ,
Finfu EANE R, BWIEFL 74 LRSS | B Sk Lk E
FURLA NSRRI SRS,

1E1THE
BRHASRIL2 | TFERSNET) , MBI , RintrEnE AT
K.

BRI RATARIS TR

|
\\\" LI AL
1A
ek

Be environmentally friendly..please don't print this document unless you really need to. 18/23


https://www.cn.actuatech.com/ImmaginiProdotti/SPECIFICHE-RP-SR-NC-1.png
https://www.cn.actuatech.com/ImmaginiProdotti/SPECIFICHE-RP-SR-NC-2.png
https://www.cn.actuatech.com/ImmaginiProdotti/SchemafunzionamentoRPSRNO-1.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

=17E

ByghRAS , THNENNMENE I,  JITRENREERFGUE ,
FinfrEMNEFR, B4 ERE—NDEE | B kL E
FRCEE N EL B RIBSARRIE.,

1E1TE
BREBANESIIL2 | TEEEIMEIFEAEEE , ISR , Rinf
BINEFTR.

B ERITRATIRA R,

\_ Be environmentally friendly..please don't print this document unless you really need to. 19/23


https://www.cn.actuatech.com/ImmaginiProdotti/SchemafunzionamentoRPSRNO-2.png
https://www.cn.actuatech.com/ImmaginiProdotti/regolazioneaperturaRPSRNC.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

Zi=ylk: 3

A) HRESEFL 4 L RFIET B R H E R SALE. MERPITRNIREBR
E (A ERBTER).

B) BEAARAIAMERIAL,

C) BRESKIHNSIL 2" (REREF AT MR EATES) | (EIEZRA TF1772
FFRAER,

D) 1 iR F it AT AT E (7 (R AR B A £5°).

E) WREfE , #RRFHEARTA | REHE FARBIRFhe ZBiaige
Al

HEVNENES ERRME , BERERI.

A) BRPITIR N TR UE (A EPIATTE ).

B) BEMABIAR B,

C) AR TF i AT VMAE BIFR RN (AR E RS0,

D) RERILE , #AIRFHULIREB |, RNERAARF i AP
B1.

AR BDENER DR EEEER,

B T RAT AR TR AR

\L Be environmentally friendly..please don't print this document unless you really need to. 20/23


https://www.cn.actuatech.com/ImmaginiProdotti/regolazionechiusuraRPSRNC.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

TR

\_ Be environmentally friendly..please don't print this document unless you really need to. 21/23


https://www.cn.actuatech.com/ImmaginiProdotti/regolazioneaperturaRPSRNO.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

il

) FRPATHRNTTRE UE (WA TES).
B) VI SAAHEN,.
C) BEMABHRER AT,
D) 1 AR F e R MBA T AT ARSI (R IR ARG R £5°).
E) WEREINE , ERARTFHUEIREA | R ARTIRF IR SRE
Al,

FEMVENER ERIRE , EEFETIL

A) HREIEFL4 L RRIBT EARBE R ML, HRPITENTERES
E (@A ERIATTEN).

B) BEMABIHASR B,

C) BARESAMNTIL 2" (SERBF TR FINITER) | (EIRELTITHE
FFRAfES.

D) 1 AR FIE RS MR BIHA R (R IR RIFE R £5°).

E) REWL/G , ERIRTFHILIEEB , RNE AR AR
B1.

FEBENER ERIRE , EEFETI,

\L Be environmentally friendly..please don't print this document unless you really need to. 22/23


https://www.cn.actuatech.com/ImmaginiProdotti/regolazionechiusuraRPSRNO.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH 1

A

AP

ATEX - Rack & Pinion pneumatic actuators
SIL3 IEC 61508 - RP

Grado di protezione IP
WA

MANB81566 Attuatore RP
VB

APRPO521 User Manual RP

Bx

RP ACTUATORS

\_ Be environmentally friendly..please don't print this document unless you really need to. 23/23


https://www.cn.actuatech.com/FilesProdotti/ACTUATECHRP-RackPinionpneumaticactuator.pdf
https://www.cn.actuatech.com/FilesProdotti/Certificate-212185901-ACTUATECH-Attuatorirackandpinion.pdf
https://www.cn.actuatech.com/FilesProdotti/TR2021-0317-00ACTUATECHENVEN60529IP66IP67IP68attuatore-signed.pdf
https://www.cn.actuatech.com/FilesProdotti/MAN81566-attuatoreRPActuatech-IT.pdf
https://www.cn.actuatech.com/FilesProdotti/APRP0521-FogliettoIstruzioniRPActuatech.pdf
https://www.cn.actuatech.com/FilesProdotti/AGRP0021-ACTUATECH-RPACTUATOR.pdf

	证明书
	说明书
	说明
	目录

